Math 123   Sample Test 2   

1. Make the trigonometric substitution  
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2. Barbara is flying two kites at the same time. She has 120 m of line out to one kite and 70 m to the other. She finds the angle between the two lines to be 28º. Find the distance between the two kites. 

3. Verify the identity:  
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4. Find the exact value of  
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5. A tree 28 m tall stands at the top of a hill. From a distance of 150 m down the hill, we measure the angle formed between the top and the base of the tree to be 10(. Find the angle of inclination of the hill.

6. Prove the identity:   
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7. If  
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find the exact value of  
[image: image11.wmf]2

cos

t

  .

8. Rewrite  
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  as an algebraic expression of x .
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